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QUESTION 1

Which of the following is a Diameter interface connected to the MME? 

A. S1-MME 

B. S11 

C. Gx 

D. SLg 

Correct Answer: B 

 

QUESTION 2

Which of the following statements regarding paging policy is FALSE? 

A. Paging method defines which forwarding path is used to forward the paging message to eNodeBs 

B. Paging policy defines paging procedures used by MME to page an idle UE 

C. Paging timer specifies the time to wait for a response to a paging request message 

D. Paging attempt specifies the number of times MME tries to page a UE before the UE is deemed non-responsive 

Correct Answer: A 

 

QUESTION 3

Which of the following statements regarding the SMC procedure is FALSE? 

A. SMC procedure must be completed successfully before AKA procedure starts. 

B. MME sends a security mode command message to the UE. 

C. UE responds with a security mode complete message. 

D. SMC procedure is used to provide NAS signaling security between the UE and the MME. 

Correct Answer: A 

 

QUESTION 4

Which of the following is NOT a benefit of S1-Flex mechanism? 

A. Minimizes MME relocation in case of UE mobility 

B. Minimizes the number of MMEs required in a network 
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C. Provides MME load balancing 

D. Provides MME geographical resilience 

Correct Answer: D 

 

QUESTION 5

Using the exhibit, if APN correction feature is enabled, which APN will be used when the UE attempts to access a
service and specifies APN-4? 

A. APN-1 

B. APN-2 

C. APN-3 

D. APN-4 

E. The procedure will be rejected 

Correct Answer: B 

 

QUESTION 6

Given the exhibit, the MME is unable to retrieve authentication vector (AV) from the HSS and the initial UE attach fails. 

Which of the following actions is useful for troubleshooting this problem? 
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A. Verify if the IMSI to HSS mapping list is configured properly. 

B. Verify if a GTP profile is associated with the S6a interface. 

C. Verify if the TAI value matches between the MME and the HSS. 

D. Verify if the DNS server is provisioned to dynamically discover the HSS IP address. 

Correct Answer: D 

 

QUESTION 7

Which of the following messages are exchanged between the MME and the SGW during the UE-initiated detach
procedure? 

A. Detach Request / Detach Accept 

B. Delete Session Request / Delete Session Response 

C. S1 Context Release / S1 Context Release Complete 

D. CC-Request / CC-Answer 

Correct Answer: A 

Reference: https://www.slideshare.net/tharinduwije/lte-ue-initial-attach-detach-from-networkx 

 

QUESTION 8

What network component(s) is/are shared in the gateway core network (GWCN) sharing architecture model? 

A. Only E-UTRAN is shared 

B. Only MME is shared 

C. E-UTRAN and MME are shared 

D. MME and PGW are shared 

Correct Answer: B 
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QUESTION 9

What information does eNodeB use to ensure MME load balancing during MME selection? 

A. MME relative capacity value received from each MME in the pool 

B. MME capacity value received from the UE attach request message 

C. MME capacity value from the UE\\'s subscription data received from the HSS 

D. MME relative capacity value calculated by each MME based on the current network load 

Correct Answer: A 

 

QUESTION 10

Which of the following statements regarding a tracking area list (TA list) is TRUE? 

A. The location of an idle UE is known by the network at an eNodeB granularity. 

B. The location of an active UE is known by the network at a TA list granularity. 

C. All the tracking areas in a TA list are served by the same MME. 

D. A tracking area list is a logical set of MMEs. 

Correct Answer: B 
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